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{1) Person A: Excuse me, I can't find the presentation room.
Person B:
(A) It’s down the hall, on the right.
(B) That's a good excuse.
(C) The presentation room is too small.
(D) You're not presenting?
(2) Friend A: How's things?
Friend B:
(A) I just put them in here.
(B) Pretty good, thanks.
(C) Two or three.
(D) What things do you mean?
(3) Person A: __
Person B: It's just after six.
(A) How many do you have?
(B) It’s great, isn't it?
(C) Sorry, do you have the time, please?
(D) Sorry, do yvou have the number?
(4) Person A: o
Person B: Yeah, a couple of times.
(A) Have you been abroad?
(B) Have you eaten?
(C) Was it a lot?
(D) What time is it?
(5) Friend A: I saw the new movie the other day.
Friend B:
(A) Not yet, no.
(B) Really, how was it?
(C) There's a new movie out now.

(D) Yeah, it wasn't doing good.
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(6) Cartoon characters can have a strong impact.

(A) feeling
(B) influence
(C) memory

(D) message

(7) The travel agency gave me free tickets.

(A) company
(B) industry
(C) representative
(D) worker
(8) He usually teaches the first grade.
(A) group
(B) level
(C) person
(D) students
(9) Regarding my friends, I am losing confidence.
(A) happiness
(B} money
(C) trust
(D} work

(10) The man’s seream shifted people’s attention.

(A} helped
(B) stopped
(C) switched
(D) took
(11) The survey indicates how many people visited this month.
(A) denies
(B) hides
(C) promotes
(D) shows



(12) The prime concern for customers should be the price.

(13)

(A) funniest

(B) interesting

(C) main

(D) worst

I will have plenty of food today.
(A) a little

(B) less

(C) lots of

(D) types of

(14) Which team will win the championship this year?

(A) aid
(B) game
(C) gift

(D) tournament

(15) You need to advance the project.

(A) complete
(B) help
(C) progress
(D) start
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(16) Whenwe _ our car last Saturday, we found a small dent.

(A) have washed
(B) wash
(C) washing

(D) were washing
(17) Late arrival _________ our schedule.

(A) affect
(B) effect
(C) will affect
(D) will effect
(18) He forgot to bring the photoID ____ for voting.
(A)
(B)
(C) required
(D)

is required

require

will require
(19) — an emergency, please call this number for help.
(A) Due
(B) If
(C) In case of
(D) When is

(20) Larry — his friend not to buy a used car.

(21) Do you know a person _______ last name is Lee?
(A) in which
(B) which
(C) who

(D) whose



(22)

(23)

(24)

That isthepark T often played soccer.

(A) there
(B) when
(C) where
(D) which
We enjoved the food _____ prepared.

(A) he

(B) him

(C) his

(D) that

lack of experience negatively impacted the result.

(A) Her

(B) Hers

(C) She

(D) Those

(25) This story was created based on T remember from my childhood days.

(A) that

(B) what
(C) when
(D) which

(26) Taking vitamin pills allows us ____ our immune system.

(A) boost
(B) boosted
(C) boosting

(D) to boost

The higher you climb., it gets.

(A) colder

(B) coldest

(C) the colder
)

(D) the coldest



(28) Ten years _ gince his grandfather died.

(A) have been passing
(B) have passed

(C) passes

(D) passing

(29) —— the heavy rain, they arrived at the station on time.

(A) Although
(B) Despite of
(C) Even though
(D) In spite of
(30) Brian asked if _ park his car near the gate.
(A) can he
(B) does he
(C) he can
(D} he do
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With the high cost of electricity in Japan these days, some people are turning to woodburn-
ing stoves. There is also the sense of confidence you get knowing that if the power goes out,
yvou'll be able to survive — even in the winter. Depending on where yvou get your wood, though,
it can sometimes be as expensive as electricity, and because it is often not very eco-friendly, 1
don’t usually recommend it.

(31) How many reasons does the writer give for using woodburning stoves instead of electricity?

(A) four
(B) one
(C) three
(D) two

(32) Why does the writer include the words “even in the winter™?

(A) because electricity costs more in the winter

(B) because it’s harder to survive in the winter due to the cold
(C) because the power goes out more often in the winter

(D) because woodburning stoves make more sense in the winter

(33) Which is more expensive, using electricity or woodburning stoves?

(A} It is impossible to know from the writing.
(B) Using electricity is usually much more expensive.
(C) Using woodburning stoves is usually much more expensive.

(D) Woodburning stoves and electricity can be the same price.



While Canada is not usually noted for its food culture, it does have a few unique dishes. The
most famous is poutine, which consists of gravy on French fries and cheese curds. It was origi-
nally a regional meal from the French-speaking province of Québec, but later spread throughout
Canada and is now famous in the United States and several other countries as well. It is mostly
eaten in less formal settings. such as in pubs, at sporting events, or as street food.

(34) Which of the following is implied by the text?

(A) Canada doesn’t have many famous foods.
(B) Most Canadian restaurants have poutine.
(C) Poutine is eaten mostly by French speakers.

(D) Poutine is now popular in most of the world.
(35) Where can poutine be found nowadays?

(A) in some countries

(B) in some French-speaking places

(C) only in Canada and the United States
(D) only in Québec

(36) Which of the following locations is least likely to have poutine?

(A) a cafeteria

(B) a soccer match

(C) a street vendor
)

(D) an expensive restaurant



Back in the 1980s Francesco Cirillo developed a time management technique called the Po-
modoro technique. His system is effective as it helps your brain concentrate on the task and
not get distracted. It does this by dividing half-hour periods into 25 minutes of focused work
followed by a five-minute break.

(37) How is time allocated in the Pomodoro technique?

(A) a 5-minute break after 25 minutes of work
(B) a 5-minute break after 30 minutes of work
(C) 25 minutes of work after a 25-minute break

(D) 30 minutes of work after a 5-minute break
(38) What does this system help people to do?

(A) to distract

(B) to focus

(C) to Pomodoro

(D) to relax

An interesting debate is happening at universities worldwide about whether increasing use
of Zoom, an online commumication platform, has been beneficial. For students, there is a mixed

reaction, with some preferring not to have to get out of bed for class. while others need class-
roowm contact. For professors, it’s a different story.

(39) Which of the following is true?

(A) Everyone agrees that Zoom has been beneficial.

(B) Not all students like the use of Zoom.

(C) Professors prefer not to have to get out of bed for class.
)

(D) Students and professors mostly agree about Zoom at universities.

(40) Which of the following would most likely follow this paragraph?

B

(A) comparing professors’ and students’ methods of using Zoom
(B) discussing professors’ views of using Zoom at universities

(C) listing the percentage of students who need classroom contact
(D)

D

talking about online conununication platforms other than Zoom
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Adapied from “Noises sound totally different on Mars than on Earth. Here's why”, Science News
Sfor Kids. July 1, 2022 URL: hitps://www. sciencenewsforstudents.org /article /moises-sound-totally-
different-on-mars-than-on-earth-heres-why /

(41) (A) carry
(B) create
(C) destroy
D)

report

(42) (A) drastic
(B) expensive
(C) small
(D) technical

(43) (A) controlling
(B) exploring
(C) patroling

(D) reducing



(44) (A) laser
(B) light
(C) liquid
(D) sound
(45) (A) hear
(B) measure
(C) remember
(D) repeat

(46) It is more difficult to hear sounds on Mars than on Earth because the atmosphere is too

(A) far
(B) heavy
(C) slow
(D) thin
(47) How has NASA's Perseverance rover helped scientists learn about sound on Mars?

(A) by making recordings from 60 meters away
(B) by providing data from sound waves created on Mars
(C) by reporting scientific findings in Nature

(D) by using microphones and a headset
(48) Which of the following statements is correct?

(A) Lasers sound like thunder.
(B) On Mars, the speed of sound depends on pitch.
(C) People can easily hear sounds that travel at 240 meters per second.

(D) Sound travels farther on Mars than on Earth.
(49) What does the word dissipate mean in paragraph 47
(A) to become higher in pitch
(B) to hear from a short distance
(C) to spread out and disappear
(D) to travel a short distance
(50) Which sentence best suminarizes the text?
(A) Lasers can break rocks to make thunder.
(B) People can hear high-pitched sounds on Mars.
(C) Sound travels poorly in the Martian atmosphere.

(D) Sound travels quickly in the Martian atmosphere.



